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INSTRUCTIONS TO CANDIDATES

Write all Nos. in English only.

Verify the roll number Printed on OMR Sheet with the
roll number givin in your admission card.

If your roll number is not Printed on OMR answer
sheet then write rollnumber on blank space provided
on the sheet. Write one digit on one block.

Do not write anything else on the question paper,
in any case do not mark answer on the question paper.
There are 100 questions in this paper. All the questions
are compulsory. Each question carries one mark.

In this question paper. question number 1 to 50 are
10 examine menfal ability and question number 51
to 100 are Test language compehension.

Language comprehension test consist of two sections,
hindi and English, From these two sections only
question from one language has to be attempted.
Serial Nos. of all the question are written on the
Answer sheet. In tront of these the Serial Nos. A, B,
C, D probable aswer are given You have to select the
correct answer and blacker in the circle arount it.
Example (&) @® (© (Ciscorrect Ans)
Mark answer on separale OMR Answer sheet given.
Blank sheets are attached at the end at question
paper for rough work, please don’t tear these off.
Handing over of the AHWO the invigilator,
is compulsory after the examination.

Condidate can cary question paper with themselves.
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g 1. fwdt 100 Hiew ﬁ@ : A B & 20 Qun1i. In a 100 metre race A beats B by 29,-
R gh a5 TS W T E A A metre or S seconds. Find the sf)eed
= AT B of A-
(A) 59 /9. (A), 5 metre/sec
(B) 47 /4. (B) * 4 metre/sec
(C) 6# /3. (C) 6metre/sec
(D) 84/ q. D) 4 metre/sec

Uy 2. 9u" 40 faom yreRfaw Rl & On2. The unit digit of product of first 40
R W YT WG Hl FHE H natural numbers is.
3 g | (A). 7
Ay 7 B0
(B) 0 © s
© 5 (D) Noue of these
(D) & &

T 3. @Wﬁﬁiﬁfaﬂqﬂ%ﬁ 12% =gt fean Qy(?a The salary of a worker is first increased
T, Tk TG 12% T fean |ran by 12% and there after it was decreased
2 1t o o B e gat- by 12% what was the change in salary -
(A) 1.44% =921 (A) 1.44% Decrease
(B) 1% d@T (B) 1% Increase
(C) 1.44% &21 (C) 1.44% Inerease
(D) S qRad T&l (D) No Change

Y 4. x AR )lc U N TIN Ond4, The mean of X +31'C is N. Then the
x? +)lcz AT AT - mean of X + )%z is -
Aa) N (A) N?
(B) N?2-2 ® N-2.
©) 2N*-1 € 2N* -1
D) 4N?-2 (D) 4N’ -~

TgEs x4 x——lﬁmﬁwm% Qu& It x7+ 1is divided by x* - 1, the

N INHH BRIT- remainder will be -
A x-1 (A) X -1
B) x+1 (B) X+ 1
o x ©) X
O -x @) ~*
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Wy 7 q
{ p afs ¢ +—-_2 Tar If 4 =2, what is the value of
_ q
23 23
RORO R B ONC]
q P - q p
(A) 0 (A) 0
(B) 2 B) 2
© -2 © -2
(D) T A A & (D) None of these
9 7. ﬁﬁﬁﬂt‘ﬁ?Wﬂ%ﬁWﬁ%— Q}ﬁ Which one of the following is in
' ascending order - |
7.5 4 9 7,5,4,9
A 67437 B 6137
7 5 9 4 7,59 4
(B) 6 ’ 4 ) 7 » 3 (B) 6 ’ 4 » 7 ) 3
4 9 5 1 4, 9,5,1
© 377746 © 377746
9 4 7 3 9,4,1,5
@ 7°3°6 4 ®) 736" %
ﬁ-&w - (Ug 8 WU 11) i fem e o Direction ( Que 8 to Que 11) There is a (number
. Weh (HTET/3AR ) Syoft < &, fas /letter) series in the following questions
T o ug & U e faee with an item missing, marked with
( ?) ¥ ortan e § 1 fEu T faemeat question mark (?). Find the best
ﬁﬁmwﬁmww appropriate option from the given
it ) ~, optior-
‘WS 8. 4, 18, (2),100, 180, 294 Qn3. 4,13, (?),100, 180, 294
(A) 32 (A) 32,
B) 36 B) 36
© 48 ‘ © 48
(D) 40 (D) 44
WS 9. 30, 68, 130, 222, (?), 520, 738 Qn9. 30, 68, 130, 222, (?), 520, 738
(A) 420 (A) 420
(B) 350 B) 350
©) 250 O 250
D) 280 D) 280
T 10. 6072, (?), 200, 48, 14, 5, 3 QuAth 6072, (2), 200, 48, 14, 5, 3.
(A) 1010 ' (A) 1010
(B) 1001 ‘ B) 1001
(© 1100 (© 1100
D) 1110 ' D) 1110
NTSE-I 2
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91 11. NSV, K7T, (?), E14P, BI9N Qn1l. NSV, K71, (?), E14P, B19N .
(A) H9R | (A) HOR
B) HI0Q (B) H10Q
(C) HIOR - (C) H10R
(D) T10R ) I10R
Te 12, TRt s zeR =@ 20'%‘—‘%'33:; Qn 12. An elevator has the capacity to carry
0 F g 1 15 7= 3 wa adults can be carried by the elevator
fopam i ohr forwe e o TRy with 15 children-
(A) 4 (A) 4
(B) 3 (B) 3
<G 5 (O
D) 6 D) 6
YT 13, AE HE =41 AT SHE =49 W& Qnl3.If HE = 41 and SHE = 49 then
COME =? COME=?
(A) 36 (A) 36
(B) 70 B) 70
) 72 <G 72
D)y 78 - D) 78
gy 14. Trifera afka R d i o i \Qn 14. Which of the following four logical
T, WO, IR Ho® & WL Rl diagrams represent correctly the
W U w9 ggitan -%? relationship between whale, fish, crocodile?

®) @ o (B) @ O
© ©)

oy QO - O™ OO0
O O
=3 - & 159 18 % Direction ( For Que No. 15 to 18)
K (ﬁmﬁ & | > %qﬁ) In each of the following questions there
U H AN qE are given a combination of letters
fRmrgfaader A, B,CD)ferew Fl?llwed 1?y flrom (A,B,C,]l])_) lidternat:)vles
: P ) 3faa E&UI yfifins choose the alternative which resembles
i q i A the mirror image of the given
%mzﬁrgﬁl combination most appropriabely.
U 15. BUZZER _ Qn 15. BUZZER
(A) SHXXUE (A) SAXSUd
(B) REZZUB (B) REZZUB
(Cy dgussd4d (Cy dUXX3A
(D) AddZ304 (D) SddZX0d
NTSE-l 3
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g9 16. JUDGEMENT Qn16. JUDGEMENT
(A) TNEMEGDUJ (A) TNEMEGDUJ
B) TUAMEGAUL (B) TMUEMAGA UL
©) TMAMEDAUL | (©) TMaMgoqaul
(D) UaoaMauT (D) wugoaMauT
99 17. R4E3N2U Qn17. R4E3N2U
(A) AH4N2U3 (A) A94N2U3
B) U2N3E4R (B) U2N3E4R
© USHedbs (©) USpedhs
(D) USNEdRA (D) USNEALA
Y 18. DBV8476 Qn 18. DBV8476
() dLe8VEQ A) yrrgvaa
(B) 6748VBD (B) 6748VBD
(C) 8476DBV © 8476DBV
D) aTrgved o D arrgvaa
- e - (w198 22 fea) Direction ( For Que No. 19 to 22)
S Bl T g o o % g In each of the following questions a
Afem (2rege ) ® @ fewan e 2 matrix of certain number is given with
TR T O ( ?) U= fag ) a question mark (?) in one block. These
3Rl I TS TH fagra O =t numbers follow a certain trend carefully
ATTHA Rt 1 Wﬁqeﬁ?i 'CI% adr go through the numbers and choose the
T T ((7) & fom stua g missing (?) character -
|
g 19. Qn 19,
4 |, 6
2 3 7
1 .8 3
X,
21 98 ?

A % B 76 © 73 D) 16
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T¥ T 20. Qn 20. -
38 44 42
23 55 28
37 | 2 39
, (A) 33 (B) 66 (C) :; D) 77
T 21. Qn2L
? 13 49
9 17 69
13 11 | 59
) A 9 B 5 (© 10 (D 11
T 22, Qn22.
1 5 7 75
8 3 4 ?
9" 7 8 | 194
(A) 20 (B) 43 (C) 89 (D) 96

e - (w230 26)
e & T I W e
g, e I ww & Sew @
T FER o UTH ST-3Te1 HR
(o9 ) aqUA, B, C, D, E, B
() AT YR B % 9N H AR
(ii) BT R C o TR A A TR TS|
(iii) C ST R D o AR H 3T R
(iv) D T WR E % W T 30§ |
(v) E N IR A ¥ 9 W C ¥ ST
71
9 23. TTH W VR N G R B &
A) A |
(B) B
© C
D) D

Direction (Que No. 23 to 26)

Read the information carefully and

answer the question that follow.
A Blacksmith has five iron articles A,
B, C, D, E each having a different

weight.
(i) A weighs twice as much as B.
(i) Bweighs four and half times as much as C.
(ili) C weighs half as much as D.
(iv) D weighs half as much as E.
(v) E weighs less than A but more than C.

Qn 23. Which of the following is lightest in weight.
(A) A
(B) B
© C
D) D
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U9 24. EARA PRSI aeqei Ao 8?2 © Qn2a. wislighter in weight than which of the

other two articles.
(A) A,B (A) .A,B
B) D,C @B) D,C
C AC ©C AC
©®) D,B ' ©®) D,B
Ue 25. E TR B o orgell § Wil @) Qn25. Eis heavier than which of the following
two articles-
(A) D,B (A) D,B
B) D,C B) D,C
© AC ©) A C
D) AB D) A.B
T 26. Sqﬁﬁ Eﬁﬁlﬁaﬁm ‘HT&%? Qn 26. Which of the following is heaviest in
' weight-
(A) A _ (A) A
(B) B (B) B
< C © C
®) D ®) D
fdor: - (Y ®. 27 A 30) Direction ( Que 27 to 30)
ﬁ'ﬂ? e CAL WWW = Read the information carefully and
fa "TQ‘J'S:PT ¥ e - answer the questions that follow-
@mmﬁg A, B, There are six children taking part in an
C,D,E, a F 9 A -{% % A 3RE essay competition, namely A, B, C, D,
saa § W@%IFHD,EH%H@%! E and F. A and E.are brothers. Fand D
C,A %FWWWHTW (7A) are sisters of E. C is the only son of A’s
2\ B 2k D, C & * O = uncle. B and D are the daughters of the
W ) brother of C’s father -
e 27. D,A ¥ Frw TR A %E : - Qn27. How is D related to A ?
(A) = , (A) Uncle
(B) ¥@ (B) Sister
©) aisf _ (C) Niece
(D) 90 _ (D) Cousin Sister
U 28. q&W yfaam fraa ¥ 2 . Qn 28. How many male competitor are there-
A) 6 (A) 6
B 5 ®) 5
©) 4 O 4
®) 3 ®) 3
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Ue 29, fgem wfaant fope €7
Ay 5 - (B) 4
© 3 D) 2

9 30. C,F 8 fra yerr grataa & 7
(A) TRUHE  (B) i
< ™= (D) =r=n

Fdo: - (W w31 A UR * 35) F T
TR Sl UGH Wol o Feel & |

B: W TG, FAR, 39, T, AHa
3R eTeish fEitfe T 91 ad
o: Tl = ®: ST 37T TeRe o
=Rt} firett ok T 7 foeent-smRiRgy,
o g, Ta-smiege, T ue. - A,
HeTA-Tt o ST AT~ eIl | 57
T4l & T S 30 W E S
STCHT- 37T STt G, Q- S 3,

®

P @ fod €13 o fomoerm @ &

S T R |

Forent €0 @ IR ST F T E o

HAT T

SR SiTTere H 7Y & 7 SR 98 A

¥ o1 T AT S | S RepT W I e

©, STEHT $-Hel TR St Hel % WY ¥ |

(v) , TGSt 1 $-3e1 @ e Ae ok wr

T s Y

3TIAIR Wi % |1 1T T8 T &

3R S faot o =Y M T § ST

3T @RI AR+ WY T 5 |

(vi) R - e d g8 § ok
ST §-Hel W, BTN & &1 TeT § 1

(vii)) A TR YA HFHFA |

(vii) Toreent Trgfor et & g€ & swem &0

(1)

(i)

©

Qn 29. How many female competitons are there-
A 5 - ®B) 4
© 3 Oy 2

Qn 30, How is C related to F -

(A) Cousinbrother (B) Brother
(L) Son (D) Uncle

Direction (Que 31 to Que 35) Read the information
. carefully and answer the question.
Six friends Rahul, Kabeer, Anup, Raghu,
Amit and Alok were engineering
graduates. All six of them were placed in
six different companies and were prosted
in six different locations namely Tisco-

@

Jamshedpur, Telco-Pune, Wipro -

Bengaluru, HCL-Noida, Mecon-Ranchi
and Usha Martin-Kolkata. Each of them
has their personal e-mail ids with different
~ e-mail providers i.e. gmail, indiatimes,
- rediffmail, yahoo hotmail, sancharnet

_ though not necessarily in same order.

(1) é[“he one having e-mail account with

sancharnet works in Noida and the one
) :

having email account with india times
workrs for Tisco.
(i)  Amitdoesnot stay in Bengaluru and does
not work for Mecon, the one who works
for Mecon has an email id with gmail.
av). |
works at Pune. v
(v)  Alok does not work for Mecon and the
<one who works for wipro does not have
an email account with yahoo.
(vi)  Kabeer is posted in kolkata and does not
havé an account with hotmail.

(vii) Nither Alok nor Raghu work in Noida. «

(viil) Thé one who posted in Ranchi, has an

@rar A a erie & 91y ¥ T8 2ena email id which is not an account of
F R rediffmail or hotmail.
(ix) TI9 A TR SRR A B (ix) Anup is posted in Jamshedpur.
NTSE-I 7
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9 31.

W 32,

UH 33.

T 34,

U™ 35.

S fardr W o T § e 3-e
T fFeRr Ta 8 ?

(A) TR A2

(B) g

() Aewia

(D) TeHA

e ¥ @ §-Srer @, Frafm
3 safer, ot i W S R ?
(A) HER - Hickrmal - Sewae

(B) el - e - gfeameE
© ofm -Awe - AR

O) ¥ - -StEad

fratdsR T Rmaad?
(A) et e gl T A R
(B) T I frgfer smeag # 7
(C) SR 1 $-Tet T Ag & T § |
(D) T T - WA IR %

IR

o= @ 9 91 W SATelTn, T,

31U, TEA, T 3R i o fragfer

T FTFA L

(A) TR, e, O, SRR, e,
ShiCTRTT

(B) SIGTe, hicwkhTd], SHIRY, 0,
ugr, T

(C) HIcHRT], HeTe, SHRIRYE, O,
Ategr, T

D) FHIAFETRI

A A 576 € A @ gfeaner,
R W2, 3R ag % wa ¥, A e
HEAT3T W HrETa § | 3ok 1§ 0eT

. T % A W W @ B |

(A) o1 WfT, w@Ea., fos
B) few=nl, fost, s mifdq
(C) TaELEa., fomnt, fam
D) fom, ., s wfes

n3l.

uQn 32,

Qn33.

Qn 34,

Qn3s.

The man who works in wipro has an

email account with -

(A) Sancharnet

(B) Yahoo

(C) Rediffmail

(D) Hotmail

Which of the following email, place of
posting and person combination is correct?
(A) Kabeer -Kolkata -Rediffmail
(B) Alok  -Bengaluru - Indatimes
(C) Amit - Noida - Yahoo
(D) Raghu - Ranchi - Gmail

Which of the following is true -

(A) Amitis posted in Ranchi.

(B) Raghu is posted in Jamshedpur.

(©) Kabeer has an email id with yahoo.

(D) Raghu has an email id with
indiatimes.

Which of the following sequence of
location represent Alok, Kabeer, Anup,
Rahul, Raghu and Amit in the same

order-

(A) Bengaluru, Noida, Pune,
Jamshedpur, Ranchi, Kolkata
Bengaluru, Kolkata, Jamshedpur,
Pune, Noida, Ranchi

Kolkata, Bengaluru Jamshedpur,
Pune, Noida, Ranchi

Noune of these

(B)
©

D)

Peaple who have email account with
indiatimes, sancharnet and yahoo work for
which companies in the name sequence as
the email account maintained-

(A) UshaMartin, H.C.L., Wipro

(B) Tisco, Wipro, Usha Martin

(©) H.C.L., Tisco, Wipro

(D) Tisco, H.C.L, Usha Martin
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T 36.

(A) 48

e 37.

9 38.

9 39,

(A) 7diEE

{ AT R 1 e ofent W ag e
3ieh & W1 gt ferenfufall & oiehi st
yfaffera & s g ?,
(B) 44

© 42 (D) 40 .

qEA+B>C+DAXB+C>A+D
aaag ffem e fr

(A) D>B (B) C>D
(© A>D D) B>D

AR 264 % 2=6,870 % 3=11 AN

735 % 5 T HI SATT-

(A) 5 (B) 12

©) 16 D) 3

Teh Rl W 35 DT € | G 63T Hl
wgfrdl § AR e W ) fiE
T % TSR U died TIH W
[HA BT T Fel H AfE W &

TR IFmA L A ABTH TS

T T E ¥ | R U 24fira i

A E?

(B) 5df M

(D) T I foran
ST Hehal

(C) 8df =M

(YT H. 40 | 44)
e St T TR ok TR W YT

" o 3o -

Tq e ARG Tk T TR
wferafirar § wfaafir =, & e
T IS W@, o oG i TFaae

off |5t 880 WiarwTfiTadl & 224 7 g9
o wrEA TR, 240 7 fagm= & wam
foran, 336 % B o1 w9A T, 64
T ud famm o == fe, 809
29t AR @t @ =wa fmm, 409
ggia iR faa= o1 == foram qen
24 9 |t A A S wEe T

.com

Qn 36.The number of boys in a class is three

Qn37.

Qn 39.

times the number of girls. Which one of

the following number can not represent - -

the total number of children in the classf .
(A) 48 (B) 44
O 42 D) 40

A+B>C+Dand B+ C>A+D then
it is definit that-

(A) D>B B) C>D
) A>D ®) B>D
. Qn38L1f 264 % 2= 6,870 % 3 = 11 then 735 %
Sbe-
(A) 5 B) 12
© 16 (D) 3

There are 35 students in a class. Suman
ranks 3rd among the girls in the class.
Amit ranks Sth among the boys in the
class. Suman is one rank below Amit in
the class. No two students hold the same
rank in the class. What is Amits rank in

the class-

(A) 7thrank (B) Sthrank

(C) 8thrank (D) Cannotbe
determined

Direction (Que No. 40 to 44)

“Rafer to the data below and answer the

question that follow-

A national level competition held last
year, participants were free to choose
their respective areas from which they
were asked questions. Qut of 880
participants, 224 choose philosophy, 240
choose science and 336 choose sports,
64 choose both science and sports, PO
choose philosophy and sports, 40

“choose, philosophy and science and 24,

i

choose all the three areas. .
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g 40. Toramt faora gftrenfiay o feedt ot

T 41.

U 42,

T 43,

G 44,

A T =T & T -
(A) 23.59% (B) 30.25%
(C) 37.46% D) 27.27%

T ufqeiire o § fora wfesma X
Ha Teh & oAl T RaT-

(A) 60% (B) 60% @ Aferk
©) 60%TFH (D) 75% W it

Torerm ufrsarfira = o @ & & &t
T TG foRaT- -

(A) 112 (B) 24

©) 136 (D) T A HE Tl
T U o for 26 & wem gfrenfimar
1:89 off-

(A) @hqaﬁmﬁ@a‘—@ GAE
(FaeT)

(B) T W wd W fomm T
oM ()

(© faama:@a

(D) W A HIE Tl

gfaamit fo=iv et we famm
= foar ueg gelw T qen
gt f=2ia ' ferm o =t ferem
o SR 3R we T % wed
ST~
Ay 2:5
<O 1:5

(B) 1':4
D) 1:2

(9 . 459 47)

I TR SR Y9 o Feelt |

& 3R et gt 3 el
3T Wed 8 | |iam 3k 9 gt
3R AT =BT Wt ¢ 1Ry sk

Qn 40.

Qn41.

com

The percentage of participants who did
not choose any area is-

(A) 23.59% B) 30.25%

©) 37.46% (D) 27.27%

Of these participating, the percentage
who choose only one area is-

(A) 60% (B) More than 60%
(©) Less than 60% (D) More than 75%

Qn 42. Number of participants who choose at

least two area is-
(A) 112
(C) 136

(B) 24
(D) None of these

Qn 43. Which of the following areas showes a

ratioat1:8?

(A) Philosophy & Science but not sports
: Philosophy (only)

(B) Philosohy & sports but not science :
Science (only)

"(C) Science : Sports

(D) None of these

Qn 44. The ratio at students choosing sports

& Science but not philosophy to science
but not philosophy & sports is-

A) 2:3
(Cy 1:5

Direction (Que No 45 to 47)

Read the following information carefully
and answer the questions based on there-
Ravi and Kunal are good in hockey and
volleyball. Sachin and Raviare good in
-hokey and bese ball. Gaurav and Kunal
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FATR T TTEA 3tk forehe oremt are good in volleyball and Cricket,
T § ) gfed, 9 AR iRa Sachin, Sagar and Gaurav are good in
EAA 3R FedTeT TS0 Wed § | baseball and football-
94 45. W,Wﬁ'{mﬁﬂm Qn 45. Who is good in hockey, cricket and .
QAT 8 ? volleyball ?
(A) §fA (B) FAA (A) Sachin (B) Kunal
(C) WR (D) a (C) Sagar (D) Ravi
o 46. mm,ﬁﬁz,mmaﬁxw Qn46. Who is good in baseball, cricket,
I AT WA & ? volleyball and football-
(A) g (B) FAA (A) Sachin (B) Kunal
© QIitC (D) 9 ©) Gowrav (D) Sagar
G 47. Eﬁhw i SEET TRt wer Qn 47. Who is good in football and baseball but
%. = BTeht, SRS 3R femaRe not good in hockey, volleyball and
3BT TE Ve | cricket ?
(A) ®TR (B) wHfeA (A) Sagar (B) Sachin
©) & (D) TiE ) Ravi (D) Gaurav
9 - (U & 48 W 49 fomm) Direction (for Que No 48 to 49) |
e Rl T vl W wem e R e Find the correct choice from the given
W f&u T 4 foreredl ® @ T W@ 4 options in place of question mark (?) )
g ?
U 48. S HE 2 L 1 Qn 48. Bank : Rupees : : Transport : ?
(A) T (B) WSH (A) Goods (B) Road
C) few (D) THER (C) Traffic (D) Speed
WS 49, TSR : Wi : : Wit ¢ ? Qn 49. Market : Demand : : Farming :
(A) THam (B) WA (A) Farmer (B) Monsoon
(C) @R (D) A (C) Foodgrain (D) Supply
g 50. Temet widhfreh WToT H DEAF HT S Qn 50. In certain language DEAF is coded on
3587 WAT FILLR T IS 74665 ? 3587 and FILLR is coded as 74665. How
|t 3t IS ¥ IDEAL i 7 feran is IDEAL written in that code-
e ? :
(A) 43568 (B) 43586 (A) 43568 (B) 43586
(C) 48536 (D) 63548 (C) 48536 (D) 63548
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